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GUJARAT TECHNOLOGICAL UNIVERSITY

DIPLOMA ENGINEERING- SEMESTER -5 (NEW) EXAMINATION — WINTER-2020

Subject Code:3351905 Date:24-02-2021
Subject Name:Estimating, Costing And Engineering Contracting
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Attempt any FOUR Questions from Q.1 toQ.5.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.

Answer any seven out of ten. €20l SlEUBRL Ulctotl scllol UL,
State the quality of a Good Estimator.

AR ARINRR ol Ll ewuudl,

Define. (1) Depth of cut (2) Cutting speed
clugl AUL(1) 3 3llg 52 () sdlot ls.
List the Elements of cost in arc welding.

LS ACSIoL HIR ol W oli uesl vl

Define Forging and list the types of forging.
LTt ofl cartuul AUl Axetl YsL wseudl.
Define Depreciation and Obsolescence.
3Ylalladet wal auRvAABetdl ofl catvail u.
State the conditions of contract.

slatse ofl 2Rl wruAl.

List six objectives of budget.

o2 oll 518 ULl &9 sl ULl

What is economic batch quantity?

“ [y el el « Aed 9 ?

Define Breakeven point.

Qs Bclot WS ofl caulvaul AL,

Write down the importance of cost analysis.

sle AolAlU of Hecel cml.

Explain the need or importance of Break Even Point in Industry.
GLAIHL A5 Bclot WBe2all w32l WUl WIlUAL cRldl.

OR
Explain effect on Breakeven Point while increasing the fixed cost.

Ul WAHL ARl sl AsBclol Wtsoz GUR Ul MU UMl

Derive an equation for Breakeven Point analytically,
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AallllElsAd AUs 6l Qs Bclet WE2 of Y2 cdlRdl.

OR
‘Breakeven analysis is a management tool’-Explain it.

‘A5 Seiot Well[A{lU A Nalxe g &'- MLl
What is ‘margin of safety’ in breakeven analysis?
Qs ol Aal@AU 1l “UctHAl duol  wHesal.

OR
The fixed cost of a company is Rs. 70,000. Sales price of unit is Rs.35 and
variable cost of unit is Rs.20. Find the total profit and safety margin when
total production is 13000 units.

As SUo(l M2 [ (BHd 3. 70,000 B. WsH AUWRL (EHA Rs.35 &
Ual As UsHo(l URAA WL Rs.20 B. §A o1l Ual AcUHA dunl

e, AR A GcUlEst 13,000 UsHL B.

A machine is purchased for Rs. 80,000 and its expected life is 16 years. Its
scrap value is Rs. 35,000. It 8 % interest is charged on depreciation fund,
compare the depreciation rate by straight line & sinking fund method.

As HAllel 3. ¢0,000 HI WilecHl wA 8, Aoll vielnd Gyl
Alss 15 ad 8, Aol WU AR 3. 3U000 B. Aol UURL §S UR ¢ %
cley cdlselHl A A Al et uat Aslol §s ol Al

YU € UL

OR
Market price of a pattern is Rs.300.Discount offered on market price is nil.
Material cost, Labour cost and overheads are in proportion of 1:2:3. If
Labour cost is Rs.60 per pattern then calculate the profit per pattern.

Ueol ofl wostR (33 3.300 B. olx1R (Bct U SlasiGe Yol UM
A .M lAA 52, AGR Slke , el AUCURSS 1:2:3 oll YHIRL Hi
.2 Aok sl 3.50 Ul Veel dlat Al €35 V2ol UR Udl otslell
a3l 5.

State the factor affecting Arc welding cost and explain.

LS AR 512 A WU $cll URAH wlcll wal A UHesLAl.

OR
Explain cost elements of Gas cutting.

A 5210l all WL oli uesl AMxtAl,
Define (1) Net weight (2) Shape weight and (3) Gross weight

udl WUL() a2 Ase () AU Ase el (3)UA Ase.

OR
Explain various forging operations.

wEL-oEL S1ool AU At UHHLAL
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A plate of 2m X 1m is to be prepared from four pieces of 100 cm X 50 cm X
1 cm with the help of Arc-welding. Welding is to done on both sides.
Calculate welding cost using given data: (1) Welding speed=1 m/hr (2)
Labour cost — Rs.20 /hr (3) Electrode consumption — 2 m/m of weld (4)
Electrode cost — Rs. 20/m(5) Power consumption — 1 kwh/m of weld (6)
Power charges —Rs. 7 /kWh

uls AXL ol Hee ad 100 AHL X 50 AL X 1 AL ol AR 2551
il 2 Ll x 1 ol ofl W@e A daur st A B. AL oial vy
UR scllMl WA 8. AU 32l gl AL ofl (BHd 2H.(1) AL
»SU - 1m/hr.(R) HY3l WA - Rs.20/ hr (3) 8AS2S cAURIA — 2 m/m
AW Aes (¥) 8AsAS [BH - 3. 20/m.(U) AR dURJA2 - 1 kwh/m

Bl ACS.(S) UaR Wl - 3. 7 /kWh.

OR
A bar stock of 20 mm diameter & 100 mm long is to be converted in to a
square bar of 20 mm side by drop forging. Calculate the length of the square
bar. Consider 7% scale loss.

Slu slolol a3 20 HLHl stauHle? ual 100 HLHl cdougauat st
dolla Hidll 20 HlLl oy atdl AR™ Aol oletiaerHl wa 8. V%

B Al oWl L ARU Uollaw ol couy k.
Explain different types of forging losses.

wel-oel Slolol (U Axestal.
OR

Calculate the cost of C. I. pulley of 1000 cm? using material cost = Rs. 10 per
Kg, wages paid to the worker = 50 per day, density of C. I. = 7.2 gm per cm3,
overhead charges = 20% of material cost, melting charges = 20% of material
cost, number of mould prepared = 20 /day / molder.

1000 dol AML ol sie wad  ydl ol slke A A we
Walacell (Brc=3.40/(5.91, Hesej Adet = 3.U0 Ydl (B, sie
et ofl dotcdl=0.2 AH/AMLE |, WaRds W™ = Hilladsll
BHd ol 20%, AL WU = HiRladell (Bd ol 20%, el
Hlesell dvall = 20/(@ au/Hles?.

Explain various times considered to find Labour cost in machine shop.
Hallot UMl AR Wl 2Qual HIZ Aol Aaldl YElyel UH

Mol

OR
A circular aluminium rod is to be reduced from diameter 50 mm to 40 mm for
a length of 90 mm, in two cuts. Assuming cutting speed as 20 m/min and feed
as 0.01 mm/rev. Estimate the time required for turning.

As WRsYdR AYHlollan As co Hall dous e uo HlLAl
stalHle? Hidll ¥o HlLHl all A (R) 52 glRl saHl A B.52loL 1ls
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A key way is to be cut in a spindle of 5 cm diameter & 50 cm long. Width of
key way is 1 cm. Diameter of cutter is 13.25 cm. If cutter is rotating at 120
R.P.M and feed is 0.05 cm/rev, then how much time it will take to cut the key
way of 1 cm depth?

As U AH staule: uat uo A dou aton Wlosct Hiell (5-a se
scllHl wd B. (3-A ol udlouy 1 AH 8. seR ol staule: 13.2u
A 8. A 522 ol 2Uls 120 R.P.M ual gls 0.0u A/t
ga Al 1 AH Gsiy alol (3-Q a4 s2 scUMR ALl AH2A ofl

a3l 53

OR
Estimate the time required to drill 4 holes of 1 cm diameter in a plate. Hole
depth is 2 cm, cutting speed is 15 m/min and feed is 0.01 cm/rev

Asdlet cglet diellor uias? ofl 1 kg ol (53 3. ¢ &, WGAU HL2ell
HElAladedl (31 3. 1 uld WU . U2 ¢ scls ofl Als 2llse Hi woo
UIGA US 53 8. AL M2 AU o As 252 ol 3. QU0 AUHL A B.
SYlallAuot el cauter €2 1% w3l WBA Us scllell Bct wld WG
el welR Wl yld wGU 3. 0.au B.

List the types of budgets and explain any one in detail.

B2 ofl YslR Rl Sle uel As (AN Al Hil Avll.

Write a short note on E- tendering.

8-20530L (AR &5elltl AWl

What is tapping? Find equation to estimate tapping time considering usual
symbols.

2Ulot AeA 94?2 Ao Rellet gl 2Ulol M ofl dwLdl 12 of Yt

dlRall.
List modern tools and techniques of cost reduction
slke 3s5et oll uYolls U WA 250(ls Al
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